
1) Look at the number in the place value chart.

1 mark

1 mark

1 mark

1 mark

2 marks

1 mark

2) Circle all the numbers that have a placeholder.

3) Complete the models below.

4) Find three di�erent ways to fill in the blanks below to partition the number below:

4,218 = ________ + _________ + _________ + _________

4,218 = ________ + _________ + _________ + _________

4,218 = ________ + _________ + _________ + _________

a) What number is being shown by the place value counters? _________________

b) What is 100 less than the number shown? _________________

c) What is 1,000 more than the number shown? _________________

Number and Place value Name: ____________________________
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Thousands Hundreds Tens Ones

4,218

8,456               3,025                5,670                  

2,459             8,901

3,000

900 250 3,000

4,568

8500



5) Use the correct symbol to complete the comparisons below.

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

6)

76 written in Roman numerals is

7) Look at the number line below. What numbers are the two arrows pointing to?

10,0000

A

A = _________________          B = _________________

Draw an arrow to estimate where 3,900 would be on the number line below.

8) Circle all the numbers that round to 3,000 to the nearest 1,000.

Circle all of the numbers that round to 1,230 to the nearest 10.

2,356             3,041             2,987             3,560             3,209             2,560

1,229             1,225             1,238             1,233             1,220             1,235

grammarsaurus.co.uk

XXXIV =

10,0000

B

3,793 3,739

4,208 - 10 4,188 + 10

1,000 - 10 880 + 100



9) Place these numbers in order from smallest to largest.

1 mark

1 mark

1 mark

2 marks

10) Amy is thinking of a number.

She has given some clues below to help you work out what number she is thinking of.

What number is Amy thinking of? ________________

11) Complete the table below.

grammarsaurus.co.uk

4,987              4,798              4,879              4,978              4,897

Place these numbers in order from largest to smallest.

8,045              8,450              8,504              8,540              8,054

50 written as a Roman numeral is C.

10 less than 10,000 is 9,990.

3,495 + 10 = 3,595

The value of the 8 in 7,890 is 800.

FalseTrue

The number in the ones column is an odd 

number smaller than 6.

The number in the hundreds and thousands 

column is the same even number.

I have a placeholder in my number. 

The value of the digits added together is 21
Amy


